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v'Neutrino Driven Explosion
2D : Buras+, ‘06, Marek&Janka, 09, Suwa+,’10
3D : Takiwaki+, 11

v'Acoustic mechanism
2D : Burrows+, '06

v'"Magneto-rotational Explosion

2D:Yamada&Sawai,’04,Kotake+'05
,Burrows+'07,Takiwaki+ 09
3D:Mikami+,'08,Scheidegger+,’10,KT&Umeda,’ 10
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v'Post Newtonian + Neutrino radiation (Buras+’06, Marek+, ‘09)

v'Full GR
v'Full GR

+ wo Micro Physics (Shibata&Sekiguchi, 05, Ott+, '11)
+ Neutrino Cooling (Leakage) (sekiguchi, ‘10)
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BSSN equations (17 variables): 4-th order in space and 3 steps in time
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Closure relation (M1 closure), cf. Shibata+, 11
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Progenitor: Woosley & Weaver, ‘950)15Msun
EOS: Shen eos (Shen+,98)+ee*+photon(+neutrino)
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